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PART A

With a neat circuit diagram and ac equivalent circuit derive the
expressions for Rin, Avo, Avand Ro for source follower.
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A feedback Amplifier has a closed loop gain of 100V/V and is
relatively intensive to change in basic amplifier gain. If a negative
feedback provides a reduction in Af to 99V/V for a reduction in A to
one-tenth its nominal value,

1)Find loop gain, nominal value of A, feedback factor B?

1) What will be the closed loop gain if A is increased ten fold?

iii)) What will be the closed loop gain if A=
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Explain the Frequency Response of CS amplifier and Derive the
expression for Low frequency response of a common source amplifier.
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Explain the properties of negative feedback amplifiers
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Explain the Classification of output stages of power amplifers
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It is desired to design a phase-shift oscillator (Self biased JEFT
amplifier) using a JEFT having gm=5000us, rd =40k(, and feedback
circuit resistance of R=10kQ. Select the value of ‘C’ for oscillator
operation at 1 kHz and RD for a gain A=40 to ensure oscillator action.
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PART B

Explain series shunt feedback amplifier and obtain expression for Rin
and Ro
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Explain the internal capacitances of a MOSFET and hence draw the
high frequency small signal model of MOSFET
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Explain Transformer coupled class A Amplifier and show that
Transformer coupled class A Amplifier has maximum efficiency of
50%
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Explain series series feedback amplifier and obtain expression for Rin
and Ro
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Explain the working of crystal oscillator.A crystal has L=0.4H,
C=0.085pF and CM=1pF with R=5K. Find (I) Series Resonant
Frequency. (ii) Parallel resonant Frequency and (iii) Find Q-factor of
the crystal.
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Explain Class B output stage amplifier and derive the expression for

ower conversion efficiency
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